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TE®®E 030 m
FEEE | 0.30 m
REEE 025 m
=E 0.55 m
Jbf8l No.0. 0-1.05
SERUEL | 1.12 m
fEAl (PRYE) | 0.49 m3
BREGRAL) | 0.1 m3
RisEavY-+ | 0.08 m3
TE®®E 030 m
FEEE | 0.30 m
REEE 02 m
=E 0.52 m

Bl 0+48.4 . 0+50.4. 0+51.4. 0+52.5

1.36

0+47.9. 0+48.4

0+50. 4
FR=111. 767
FR=111.772
2720
1360 1360
820 540 540 820
300 | 520 300 _|_240_|_240_, 300 520 | 300
11,797 111.782

LJEF n

S I I

1
\
\
L

— 1 . T

DL=111. 00
0+40
FH=110. 289
FH=110. 304
2250 700
1125 1125 AlREE
600 525 525 600
00 509 300 | 225 | 225, 300 500 |
|
110,281 711028

=L

1 ] ! N

EHaEUR L m
R (BR¥E) | 0.59 m3
B GRAL) | 0.21 m3
RisE)-F | —  m3
TE®BE | 060 m
LE®BE | 060 m
FEBEE | 024 m
RE 0.84 m
FafEl  0+39.9, 0+40,
SHERRL | 1.13 m
fEEI (BRYE) | 0.49 m3
B GRAL) | 0.12 m3
RisEavY-+ | 0.07 m3
TE®®E 030 m
TE®RE | 030 m
REEE 023 m
=E 0.53 m
BafAl 0+33.9, 0+34.5
SERUEL | 1,15 m
fEEl (BRYE) | 0.49 m3
BEGRAL) | 0.11 m3
Ris&avY-+ | 0.07 m3
TE®®E 030 m
TE®RE | 030 m
REEE 025 m
=B 0.55 m

JeqB  0+49. 1 0+50. 4, 0+51.1, 0+53.2

HHEEUEL | 1.36 m
EHI (BRHE) | 0.64 m3
BRGEAL) | 0.22 m3
mggwvy)-+ | — m3
TRE®®E | 060 m
LrERE | 060 m
THEEE | 024 m
xE 0.84 m

JE8  0+40. 0+40.6.

0+48.6. 0+49.1

DL=109. 00
0+34.5
FH=109. 852
FH=109. 866
2300
1150 1150
600 550 550 600
00 500 300 | 250 | 250 , 300 500 0
1. 109.84J
| - I [

[
\
[
L

|

DL=109. 00

[ A N

SERZEL | 1,13 m
EHI (FRHE) | 0.46 m3
BEGRAL) | 0.11 m3
fggEIvy)-+ | 0.07 m3
TE®E (030 m
LTEEE | 0.30 m
REZE (023 m
RE 0.53 m
Jef8l 0+34.5, 0+34.6
SHERIEL | 1,15 m
fEAI (PRYE) | 0.48 m3
BRGRAL) | 0.11 m3
fizgavy)-+ | 0.08 m3
TE®RE (030 m
LTEEE | 0.30 m
REZE (025 m
=B 0.55 m

e 44 % [BZEE
I%E%5 TH4EE LEF395
IS4H | mEdEl2SRbMEREIF
L& RiETAZ AR
RERH 1
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